o
o o
Ul a1

o
™
o1

IIII|IIII|||||_I_I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|||||1_

(p+bar{p})/(pi" + pi)

O
~

0.35

0.3

0.25

0.2

0.15

0.1

Ratio to LHCB

0.5

70 D

00 GeV pp | Spft QC

. T L
(P+p)/(T+m) vs ly| (p. > 1.2 GeV)
m LHCB
---©-- Pythia 6.428 390
--g-- Pythia 6.428 391
--<%-- Pythia 6.428 392
-+ -- Pythia 6.428 396

-~ Pythia 6.428 397

---¥-- Pythia 6.428 398
% _________________________________ = --;:-""'===::::_
,:::=_-=::::::::::;-——-—""'=======¥ ________________ ?

==
- L

IIII|IIII|IIII_I_I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII1_

=====
—em===--
P

- @;;22555555531::::@ '::Er=fsf;::::;;_:® :

Rivet 3.1.0, = 100k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


